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1 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
Fh st 1.00/ 0,00 ~ 3.59 53.04| #hilst (000 ~ 000| 1.78 7.83 ZFh st 1.00|] 500 ~ 500 53.04| Zhils | 500 ~ 500| 1.78 7.83
5 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00{0.00 ~ 1.20 60.48| Zhlis | 000 ~ 1201 1.95 8.56 Zhn st 1.00] 500 ~ 6.20 60.48| #h st | 500 ~ 6.20| 1.95 8.56
3 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00{1 0.00 ~ 0.60 53.30| #h L4 | 000 ~ 0.00| 1.92 8.44 Zhn st 1.00] 500 ~ 5.20 53.30] #h st | 5.00 ~ 520| 1.92 8.44
4 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Fh st 1.00/ 0.00 ~ 050 56.97| #hlst (000 ~ 000| 1.75 7.71 Fh st 1.00] 500 ~ 550 56.97| hbils | 500 ~ 550| 1.75 7.71
- 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Fh st 1.00/ 0.00 ~ 0.60 53.73| #hilst (000 ~ 0.00| 1.70 7.48 Fh st 1.00] 500 ~ 520 53.73] #hils | 500 ~ 520| 1.70 7.48
6 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
ZFh st 1.00/ 0.00 ~ 0.80 56.08] #hilst (000 ~ 0.00| 1.70 7.48 Fh st 1.00] 500 ~ 550 56.08] #hbLls | 500 ~ 550| 1.70 7.48
; 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
ZFh st 1.00/ 0.00 ~ 0.80 58.17| #hilst (000 ~ 000| 1.73 7.60 Fh st 1.00] 500 ~ 570 58.17| #hils | 500 ~ 570| 1.73 7.60
g 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
ZFh st 1.00/ 0.00 ~ 0.80 53.04| #hilst (000 ~ 000| 1.78 7.83 Fh st 1.00] 500 ~ 500 53.04| Zhils | 500 ~ 500| 1.78 7.83
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn s ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
Zhn st ~ Zh s ~ Zhn st ~ Fh s ~
100kN/mM#E#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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